

$$y^{(n)} - y^{(n-1)} = y^{(n-1)} - y^{(n-2)} = \dots = y^{(1)} - y^{(0)} = y' - y$$

$$\Rightarrow y^{(n)} - y^{(n-1)} = y^{(n-1)} - y^{(n-2)} = \dots = y^{(1)} - y^{(0)} = y' - y$$

$$\Rightarrow y^{(n)} - y^{(n-1)} = y^{(n-1)} - y^{(n-2)} = \dots = y^{(1)} - y^{(0)} = y' - y$$

$$\Rightarrow y^{(n)} - y^{(n-1)} = y^{(n-1)} - y^{(n-2)} = \dots = y^{(1)} - y^{(0)} = y' - y$$

$$f(n) = \begin{cases} r^{n-1} - 6, & |n-1| \geq r \Rightarrow |n-1| \geq r \Rightarrow -r \geq n-1 \text{ or } r \geq n-1 \\ a + r^n, & -r \leq n \leq -1 \end{cases}$$

$$\Rightarrow n=1 \Rightarrow r n^r - b = a + r n \Rightarrow r - b = a + r \Rightarrow a + b = r \quad \checkmark$$

$$f(x) = \sqrt{a - bx - x^2} \quad D_f = [a, b] \Rightarrow \sqrt{-(x^2 + bx + a)} \Rightarrow \sqrt{-(x-a)(x-b)}$$

$$ab = -a \Rightarrow b = -1$$

$$-(a+b) = b \Rightarrow a = -2b \Rightarrow b = -1, a = 2 \Rightarrow a+b = 2-1 = 1$$

$$y = \frac{r}{\sqrt{ax^2 + bx + c}} \quad D_f = (-\infty, r) \Rightarrow \text{as } x \rightarrow r^- \Rightarrow yb + c = 0 \quad \text{red circle with } r$$

$$\Rightarrow c = -rb$$

initial condition at $x = 0$ $\leftarrow a = 0$

$$1a + C - 1b \Rightarrow 0 + (-1b) + 1b = 0 \quad \checkmark$$

$f(x) = \sqrt{\frac{1}{|x| - [x]}}$ $\Rightarrow |x| - [x] \neq 0 \Rightarrow |x| \neq [x] \Rightarrow$

$D_f = \mathbb{R} - \mathbb{N}$

$f(x) = \sqrt{x} + \sqrt{y} = 9$

$\hookrightarrow \sqrt{y} = 9 - \sqrt{x} \Rightarrow y = (9 - \sqrt{x})^2 \Rightarrow x \geq 0, x \leq 81$

$\Rightarrow D_f = [0, 81]$

$x \in \mathbb{Z} \Rightarrow |x| \neq x$
 $\hookrightarrow (-\infty, 0)$

$x \notin \mathbb{Z} \Rightarrow |x| \neq x - 1$
 $\Rightarrow x \neq -x + 1$
 $x \neq x - 1$
 $\Rightarrow x \neq 1 \Rightarrow x \neq 1$

$$f(x) = \sqrt{\log_{\frac{1}{r}} x - 1} \Rightarrow x > 0, x \neq 1 \quad \begin{cases} x > 1 \Rightarrow r^x - 1 > 1 \Rightarrow x > \frac{1}{r} \\ 0 < x < 1 \Rightarrow 0 < r^x - 1 < 1 \Rightarrow \frac{1}{r} < x < 1 \end{cases} \quad (1, \frac{1}{r})$$

$$D_f = \left(\frac{1}{r}, \frac{1}{r}\right) \cup (1, +\infty) \leftarrow \begin{cases} 0 < x < 1 \Rightarrow 0 < r^x - 1 < 1 \Rightarrow \frac{1}{r} < x < 1 \\ x > 1 \Rightarrow r^x - 1 > 1 \Rightarrow x > \frac{1}{r} \end{cases}$$

$$\hookrightarrow f(x) = \log_{\frac{1}{r}} \frac{1}{4 + \sqrt{|x|} - |x|} \Rightarrow 4 + \sqrt{|x|} - |x| > 0 \Rightarrow -|x| + \sqrt{|x|} + 4 > 0$$

$$\Rightarrow (\sqrt{|x|} - r)(\sqrt{|x|} + r) > 0 \Rightarrow \sqrt{|x|} < r \Rightarrow |x| < r^2 \Rightarrow D_f = (-r, r)$$

$$y = \sqrt{\frac{rx + r}{x + b}} \quad D_f = (r, +\infty) \Rightarrow \sqrt{\frac{rx + r + ax + ab}{x + b}} \geq 0, x + b \neq 0 \quad (r)$$

$$\hookrightarrow x \neq -b$$

$$\sqrt{\frac{(r+a)x + ab + r}{x + b}} \Rightarrow \text{جوابی و باریک و ...} \quad a = -r$$

$$\Rightarrow b + r = 0 \Rightarrow b = -r \quad \checkmark$$

$$f(x) = \begin{cases} r^x - 1; [x] > r \\ r^x + r; [x] \leq r \end{cases} \quad y = \sqrt{f(x) - x + 1} \quad (r)$$

$$\xrightarrow{I+II} D_f = \left[-\frac{r}{r}, +\infty\right)$$

$$\hookrightarrow f(x) \begin{cases} r^x - 1; x \geq a \Rightarrow y = \sqrt{r^x - 1 - x + 1} = \sqrt{x} \quad \checkmark \quad \mathbb{Z} \\ r^x + r; x < a \Rightarrow y = \sqrt{r^x + r - x + 1} \Rightarrow \sqrt{r^x + r} \rightarrow r^x + r > 0 \end{cases} \quad \begin{matrix} x > -\frac{r}{r} \\ \mathbb{R} \end{matrix}$$

$$y = \frac{r^x r^x + r^x m^r + 1(x + r)}{(r^x + 1)^r} = \frac{r(1x^r + 1x^r + 4m + r)}{(r^x + 1)^r} = \frac{r(r^x + 1)}{(r^x + 1)^r}$$

$$= \frac{r}{r^x + 1} \Rightarrow D_f = \mathbb{R} - \left\{-\frac{1}{r}\right\}$$

$$y = \sqrt{1 - \log(r^x - a)} \quad D_f = (b, c)$$

$$r^x - a > 0, r^x - a < 10 \Rightarrow 0 < r^x - a < 10 \Rightarrow a < r^x < 10 + a$$

$$\Rightarrow \frac{a}{r} < x < \frac{10 + a}{r} \Rightarrow b = \frac{a}{r}, c = \frac{10 + a}{r} \Rightarrow c - b = \frac{10}{r} = d \quad \checkmark$$